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developmental study)0llA, no observed effect dose?} 30mg/kg/O|RACH Al SBHEOf|A O] - 2F0]| A
9| calculated free drugOil CHSF AUCZt 20mg 20l A QA AUCL| 2F 18HHRACY.

Ao HEOM s (fertility) 2| 2017} GUUCEH EICI2ES 6~ 12 702 28 04 25mg/kg/E & 11 0|
o EF2=Z 10 FoI3US M, FE oM YA G| dLaE 7HH e M-S T (seminiferous tubular

epithelium)2| E[HO[ AACH1. B L 11.1) ofHsty E¢ o H=x].

|off I|LEAE|2|=oF 27[0 & Al D|LIAH 2 E HEa £0 T &

=2 o

= T
g FO0|2 S7tel 224 0|0| F& AlZt = 4F AYFE HYL5H7| A2t 2657 216t FESH
(o-K=1
M=






